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� PP(�

���/�����������#�!���1���#�,����������/��#�����	G�P2&��+���������$����,���C����#/���#��

�P'��������$������ 
���
�2��������������0���,����� �#��� �1����������#��$����0�����$��#�

#����#�#$����#�����#����������!��������������!��������<�� ��=2�

�

8�#���6��4���#����$����#��������$������
���
����#������������������#��-�#����!�"��������������#���

�#��*#2��,�����#�����#�������������#�
���FO����$���#�����+���#���?�.���#�������#������#2�

�

TAIR code

At3g22600
At5g44420
At2g29490
At1g75830
At2g43510
At1g45145
At4g12490
At2g29460
At5g44430
At5g43580
At3g09940
At2g26020
At3g09270
At1g72900
At4g12500
At5g38900
At1g66090
At4g12480
At3g53980
At3g53980
At1g74590
At1g57630

At2g29350
At4g34135
At5g20960
At3g26830
At3g60140
At3g54150
At1g61800
At1g67980
At1g32350
At3g44300
At2g15480
At1g60730
At4g37370
At4g13310
At1g33030
At2g24850
At2g15390
At2g30750
At3g22370
At5g22860 serine carboxypeptidase S28 3,02

cytochrome P450 71A12 3,08
alternative oxidase 1a, mitochondrial (AOX1A) 3,08

aminotransferase 3,12
xyloglucan fucosyltransferase 3,1

cytochrome P450 71A20 3,31
O-methyltransferase 3,22

aldo/keto reductase 3,45
cytochrome P450 3,34

nitrilase 2 (NIT2) 4,05
UDP-glucoronosyl/UDP-glucosyl transferase 3,48

caffeoyl-CoA 3-O-methyltransferase 4,2
alternative oxidase 4,06

embryo-abundant protein-related 4,58
glucose-6-phosphate/phosphate translocator 4,42

cytochrome P450 71B15 5,12
glycosyl hydrolase 4,63

UDP-glucosyl transferase 5,45
aldehyde oxidase 1 (AAO1) 5,22

 METABOLISMO
tropinone reductase 8,53

glutathione S-transferase (GST U10) 3,04
disease resistance protein (TIR class) 3,04

protease inhibitor 3,24
protease inhibitor 3,11

disease resistance protein (TIR-NBS class) 3,35
protease inhibitor 3,33

protease inhibitor 3,41
DSBA oxidoreductase family protein 3,35

glutathione S-transferase (GST U8) 3,77
disease resistance protein (TIR-NBS class) 3,44

monodehydroascorbate reductase 4,3
plant defensin (PDF1.2b) 4,16

plant defensin (PDF1.2c) 4,63
protease inhibitor 4,46

protease inhibitor 5,23
glutathione S-transferase (GST U4) 5,17

trypsin inhibitor 5,81
thioredoxin H-type 5 5,55

glutathione S-transferase (GST U1) 7,83
plant defensin (PDF1.1) 6,51

protease inhibitor 8,58
plant defensin (PDF1.2a) 8,03

Anotación génica Cociente (cat2 /wt)
DEFENSA

�

�

�

�
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��

� PPU�

At3g01830
At5g48410
At1g21550
At3g63380

At2g19190
At5g67080
At4g18250
At4g23190
At1g79680
At5g01540
At3g59700
At5g25930
At4g04490

At3g28210
At2g41835
At5g27420
At4g11370
At5g18270
At3g04070
At5g13080

At1g26400
At1g26380
At5g62150
At4g18430
At2g26400
At2g26560
At4g15610
At1g26420
At4g20860
At3g26500
At1g66700
At5g66640
At1g26390
At4g23700
At1g03850
At2g04100
At5g54710
At2g02990
At4g01870

At1g36640
At4g08555
At4g37290
At2g18680
At2g14777
At5g22545
At2g40095
At1g10585
At3g10320
At3g13950
At2g32190
At4g39670
At2g23270

5,21
4,65
4,17
3,59
3,54
3,22
3,21
3,16
3,1

4,07
3,96
3,84
3,64
3,29
3,27
3,06

6,21
6,04
5,88
4,95
4,3

4,11
3,8

3,73
3,7

3,56
3,52
3,43
3,33
3,24

3,98

6,72
6,32

5
4,55

3,22
3,14
3,08
3,06
3,06

3,23

3,93
3,92
3,85
3,82

4,53
4,24

3,62
3,15
3,05

expressed protein 

expressed protein  
expressed protein
expressed protein

hypothetical protein

tolB protein-related

4,01

expressed protein
expressed protein 
expressed protein

expressed protein 
expressed protein  
expressed protein
expressed protein

DESCONOCIDO
expressed protein 

glutaredoxin family protein
MATE efflux family protein

ankyrin repeat family protein
ribonuclease 1 (RNS1)

S-adenosyl-L-methionine:carboxyl methyltransferase
LIM domain-containing protein-related
FAD-binding domain-containing protein

cation/hydrogen exchanger, putative (CHX17)

integral membrane family protein
FAD-binding domain-containing protein

FAD-binding domain
leucine-rich repeat family protein  

peptidoglycan-binding LysM domain
Ras-related GTP-binding protein

acireductone dioxygenase (ARD/ARD')
patatin

WRKY family transcription factor
MISCELÁNEA

FAD-binding domain-containing protein
FAD-binding domain-containing protein

zinc finger (C3HC4-type RING finger)
zinc finger (C3HC4-type RING finger)

no apical meristem (NAM)
no apical meristem (NAM)

protein kinase
FACTORES DE TRANSCRIPCIÓN

zinc finger (AN1-like)
zinc finger (C2H2 type, AN1-like)

wall-associated kinase
lectin protein kinase
lectin protein kinase

leucine-rich repeat family protein / protein kinase 

light-responsive receptor protein kinase
protein kinase

receptor serine/threonine kinase
protein kinase

glutamate receptor
calcium-binding protein

calcium-transporting ATPase
KINASAS

CALCIO
calmodulin-related protein 4,31

�
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�
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� P&'�

8�#��� <�� 4���#����������#� ��� ����$������ 
���
�� ������#������������������ #��-�#����!�"��

������������#����#��*#2��,�����#�����#�������������#�O�F
������$���#�����+���#���P%7�.���

#���������#������#2�
��!�"�������#�,����������������#���������#���#$�����#�������/��$���E27�

+���������#����1�������#��������.�!������,����$0����)$���$��������$������������#�������#�#2�

TAIR code Cociente (wt/cat2 )
At4g32280 2,86
At5g18020 1,92
At4g35090 1,85
At5g18060 1,82
At5g18050 1,79
At5g18080 1,75
At5g18030 1,75
At5g57760 1,75
At3g44990 1,75
At3g19850 1,75
At3g02380 1,7
At5g06530 1,54

auxin-responsive protein
auxin-responsive protein
auxin-responsive protein

Anotación génica
auxin-responsive AUX/IAA
auxin-responsive protein

catalase 2

ABC transporter family protein

expressed protein  
xyloglucan:xyloglucosyl transferase

phototropic-responsive NPH3
zinc finger protein CONSTANS-LIKE 2 (COL2)

auxin-responsive protein

�

�
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�*��������$���$���������������#��#����������$���#��*#��$������2�

�
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� P&7�

��� ���������� �!"���-�� ��� ��� ��#�#%� ����� +�� #�� .�� ���������� ��� ��������#�

���������#%�/$�� �����#�6�����$���������!���,����� ��� ����$��� #�� �$������� �#�$�������#�

�/����#��������,1�������.���,����%����!�*���������������$���1�������%������� ��� #$�

/�������1�����-����������#$�/$���,��#�6���0�����2�����$�#�����������#���#�$���������#�

�/����#�������$���1�������������-*#������$������
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�������������	�	%�$���$���������

�*���������/$���,���������#�/�����&�������������#����������������������������2�

5�#������/��.���1�#����?�����������#��#�$���#�����������������������������	�	�

���������#�������#��������$�#�������#�����#�#2��������������������0���,��/$��������	�#�Q���

������%�<&''P=%��������$���#���6�����1,�������������,1�������.���,���������������#��#�

�����������	�	2��#����#�$�����$#���������/��#�����#���#�/�����#�����#������*�$��%�+��)$��

�����$+�� ������ ��� #$� ���������� ����� ���$���� ��/������#� ��/��#�#� �����1������#� �����

����#���-��$�����#� ������ #�6���0���,�2�������������$���#�$���������������������#����#�

�����������#%� +�� )$�� �������� $�� ������� ���"���� ��� ��� ��������� !���,����� ��� $����0���

�*�$��#���#����#������������	�	%�$���.�)$���$��$���+� �1,����������$���1�������%�+�

>���������� ���#������ �� �#�$���� PP2'''� ����#� <����1����������� ��� ������ ��� ��#�

�1�#�����#������������	�	=2�����$�#������#�#%�������!��%�����������#���#�6���$���������

��� ��� )$�� ���������!������#� ��#�$�#��#� �������� ��-��� ���$���� ������� ��-��� ��� �������

������2����!�*��#�����������)$�������$���1��������#�������$��������/�����������$������

��������������!���#���������������� ������������,������ ��������� �1�����2�����>�����%�
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